nit 5 Test Review K E Y
Wo tilouéli right triangle ABC are given (not drawn to scale). Find the ratios in ragical form.
Lo sinA= 133353 cscA= 53 '1
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. 2. Determine the remaining 4 trig ratios given that cosé = + Draw a triangle and label accordingly.
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- Use a calculator to find the value of the trig function to two decimal places. Use the correct mode.

.3 sin79° 3 q? 4. csc79° l.o Z

* 5. Find the measure of side ‘a’. 6. Use a calculator to find the measure of 6

N T

A building 240 feet tall casts a 30 foot long shadow. If a person stands at the end of the shadow and looks
up to the top of the building, what is the angle of the person’s eyes to the top of the building (to the nearest
hundredth of a degree)? Assume the person’s eyes are 4 feet above ground level.

8. A radio transmission tower is 200 feet tall. How long should a guy wire be if it is to be attached 14 feet from
the top and is to make an angle of 23° with the ground? Give your answer to the nearest tenth of a foot.

.23,554« B) 27,252t C) 5207f D) 4,584t

9. A straight trail with a uniform inclination of 11° leads from a lodge at an elevation of 700 feet to a mountain
|ake at an elevation of 5200 feet. What is the length of the trail (to the nearest foo)?

The point on the terminal side of angle 8 is given. Graph the point to draw a triangle; then find the exact value

of the six trigonometric ratios of 6.
10. (6, 8) 11. (-5,12)

sing = LIS csce=5 LI 5ine=ﬁ3 —— ‘3/\2'
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IL Determine whether the Law of Cosines or the Law of Sines is the best choice.

1. State whether the Law of Sines or Lawof 2. State whether the Law of Sines or Law of
Oosir‘xcs is the best choice to solve for x for Cosines is the best choice to solve for x for

3 the given figure. Substitute the values into the given figure. Substitute the values into

LO S the appropriate formula (do not solve), the appropriate formula (do not solve).
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3. State whether the Law of Sines or Law of

Cosines is the best choice to solve for x for
the given figure. Substitute the values into
the appropniate formula (do not solve).

IS

. State whether the Law of Sines or Law of
Cosines is the best choice to solve for x for
the given figure. Substitute the values into
the appropriate formula (do not solve).

37

w
o
k;
m
&

55

5. State whether the Law of Sines or Law of
Cosines is the best choice to solve for x for
the given figure. Substitute the values into
the appropriate formula (do not solve).

Ed

State whether the Law of Sines or Law of
Cosines is the best chaice to solve for x for
the given figure. Substitute the values into
the appropriate formula (do not solve).
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. State whether the Law of Sines or Law of
Cosines is the best choice to solve for x for
the given figure, Substitute the values into
the appropriate formula (do not solve).

~
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. State whether the Law of Sines or Law of
Cosines is the best choice to solve for x for
the given figure. Substitute the values into
the appropriate formula (do not solve).

©

For 8HJK, / = 31, mzH = 132°,
mzJ = 21°, and m2K = 27°, Find h to
the nearest whole number.

(o

8. State whether the Law of Sines or Law of
Cosines is the best choice to solve for x for
the given figure. Substitute the values into
the appropriate formula (do not solve).

For AABC find the length of b to the nearest
hundredth, given a = 17, ¢ = 34, and
meB = 94°,

10. State whether the Law of Sines or Law of
Cosines is the best choice to solve for x for
the given figure. Substitute the values into
the appropriate formula (do not solve).

For AXYZ find the length of m£Y to the
nearest whole degree, givenx = 6,y =9,
andz= 12,

IIL. Use the Law of Sines and Law of Cosines to find missing dimensions.

11. Find the missing dimensions of the triangle
below. Round your answers to the nearest
whole number,

13
D

13. Find the missing dimensions of the triangle
below. Round your answers to the nearest
whole number.

b =9\
A=31°
C=25°

12. Find the m£C to the nearest whole degree.
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14. Find the fto the nearest whole number.
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N&mz;@'____ vegdosoai e o TIT, - Solve each of the following using Law of Sines or Law of Cosines.
’
STaAR .

.
Date Sin x
Solve each of the fallowing in your calculator. Round your answers to the 1, ; 12. l o 'D\S

nearest hundredth. 100 150

sin(102°) e C‘78 | x: Lfl.oq?o

. cos (-31°) o 85 -78 __’ S‘ 9\\ x

. fan (1759 — N |

. 1an(90°) Und € ;f\ 3 —To‘fo"" = Elﬁ-'f‘tg Ca: (202-4— (ﬂﬂ-l(l?-oyb‘l’}é
. sin(x)=0.78 &

. cos (x)=-0.36 SH'\ , l%éo K= |7 o’ ,3(05 0 Ces

. tan(x)=8.75 ?3. ‘*800 13. 14 88 c:

125
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2 3
76 Sn 4 anx & 125,350
“II." Find the missing sides and/or angles using SOH CAH TOA. **Angles are ‘0% = T,r(;— x l ‘
right as they appear. 153
A =10
s«nw‘lf_x_ x=46.4I\
8. 9 : @ IV. Applications. Solve each of the following using Pythagorean Theorem, SOH
)( - ‘0 ,?(p 4 z 8 L= CAH TOA, Law of Sines and/or Law of Cosines.
10 X
i 15. The angle of elevation to the top of the Empire State Building in New York is 11° from a point
] 14 on the ground 1 mile from the base of the building. Find the height of the Empire State
?( Building in feet. _{_ 1 = X
CQSX =">. [ ¥ (28 \ \ s

1 s

) Py 2 5xa_§<?° 2. 5:9

10. ‘ X - 5 5’ i G { N 16. A 96 foot tree casts a shadow that is 120 feet long. What is the angle of elevation
Gt & f the sun?
g Y ° - & 0
- i : me&-_;&_ X=3%0606
2.0 17, A manis lying on the beach, flying a kite. He holds the end of the kite string at ground level
and estimates the angle of elevation of the kite to be 50°. If the string is 450 feet long, how
4o 1= 2

x high is the kite above the ground? v - X
O SinS0=X_
2 3tH. 724+
X= 49 4s0
18. Find the altitude of anisosceles triangle with base 4.24 feet. The vertex angle of the
triangle measures 85°.
e5°

e
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42.
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